


Choose the word opposite in meaning lo -

CONTRITE

(A) unapologetic (B)  hurtful (© concise

(D)  polite (E)  Question notattempted

The sum of all the factors of 120 is :

120 ¥ |t TR T AT B

(A) 300 (B) 310 © 360

D) 380 . “ (E) Question notattempted/ 3T ¥

Given below are two statements : i

Statement (1) : Balathal is an important archaeological chalcolithic site in Rajasthan.

Statement (II):  Itwas excavated by V.N. Misra. Its contact with the Harappan Civilization is attested from the
house construction.

In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  BothStatement (I) and Statement (II) are true.

(B)  Both Statement (I) and Statement (II) are false.

(©  Statement (I) is true but Statement (II) is false,

(D) Statement (I) is false but Statement (II) is true.

(E) Questionnotattempted {

HA(D): AN T Fl T HeweIqul e AHara] S §4

WY (1) ;. THH! T LT, e XY off | o geo W | g I g Frfor | weiford B 2
ST AT o SR B Frfafen famedl § ¥ watfires Suged sWH ¢

(A) w1 3R an AR E E L‘*

(B) W(l)aﬂt(n)aﬁfmﬁ

© W(I)W%,%W(II)W%I

(D) T (1) 378 ¢, g Fo (1) A

(E) ARGy

The three medians PA, QB, RC of triangle POR intersect at point G. If the area of triangle PQR is
90 sq.cm. Then the area of the quadnlateral AGCQis:

(A) 20 cm? «==(B) 30cm? © 25cm?

(D) 40 cm2 {¥(E) Questionnotattempted ‘

F PQR % i HIfEAIE PA, QB‘RCWGWM%MEWPQRMW%cmZ A q T AGCQ
I ATFA T : |

a) 20 ¥ - Y nfﬂ) 30 ¥z © 253

O 4030 () ogaraww

What is the shortcut key for the central alignment of a line or text in MS office software ?

T T SAfthY T § frd o a1 TR & i Wi ¥ fa wewe e R ?

(A) Ctl+w B) Ctl+E © Cul+X
(D) Ctl+Alt+S (B)  Question notattempted / STAIRT ¥

(% va3 2



What will come in place of question mark (?) in the series ?

6.
frefafad & %5 | YeEmEs (o= ((?) % i W e ?
44 22, 22,33, 66, ?
(A) % 7 ®) 100 © 120
(D) 165 (E)  Question not attempted / ST T&

7. ‘Subordinate’, % foIT wyam &t vreg -
(a) T @) sfRE, - © i
D) g (E) aﬁaﬁam

8. Which of the following is/are example of corrosion ? -
(@) Ironrust (b)  Black coating onsilver
()  GreenCoating on copper (d) Galvanisation of iron
Choose the most appropriate answer from the options given below :
(A) (a)only (B) (a)and (b)only (© (a) (b)and (c)only
(D) ~ (d)only (E) Question notattempted

Tt # i e 31/% S ¢/ ?

(a)  ET S (b) I R e S
(0 i W& Hae H R (d) <R H TG H AR
e fiw T feremedi § | Walfues Sugad ST T
(&) € (a) @ FEEIRE) © % (a), (b) AR ()
D) e (d) (E) 31':1,"“:*?' W"

9.  Thesum of radius and helght of a solid Cylinderis 35 cm an and its total surface area is 1540 cm?. Whatis the volume
of Cylinder ? f: .'J
(A) 4100 cm? B) 4312cm3 © 4213 cm3
(D) 4123 cm? (E) Questlon not attempted
T 99 fadiet F aq%i—aqmqam-ﬂvhsssﬂﬁ%ah TH e T St 1540 T ¥ | et 1 s
FR? S
(A) 4100 §HO (B) 4312 §HP © 4213 G
(D) 4123 §HP ' (E)  3TIaRd w1

10, ‘O ST e, HeeR o o &~

Ty owivaFEE ®) © TR T

() FE YRR A (E) ﬂﬂﬂ:ﬁﬁg

11.  Which of the following is India’s first interplanetary mission ?

« (A) Chandrayaan-1 (B) Mangalyaan (©  Astrosat

(D) RISAT-1 (E) Questiq’;r;_)q:c_r)t attempted
frerffad § § VI 1 S99 Tea Siaundd (feranedt) fiwe €2
(A) =gaH-1 (B) 'q"l'("lm’iﬁ‘ © T{@'@E (Astrosat)
D) RISAT-1 (E)  STIORA W .

P va3 3 P.T.0.
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12,

13.

14.

1 l iobwii
In24 days A cando 75% of ajob. B can do 1 of thejob in 24 days. In how many days can they do 1 of the job while
working together ?
(A)  Sdays (B) 6 days (© 8days
(D) 10 days (E)  Question notattempted

A 24 T ¥ 759% 6 = gFa ¥ BEd @1 = QTTIZ‘;ﬁ:ﬁﬁ{{T‘qﬂm%lﬂ'—ﬁﬁW T ¥+ 7T
fohaa el = e € aandy

@) Tl ® ofc (. © sfe
®) 10 B SHERaTH.-
Match List-I with List-II :

List-I List-1T

Boli/ dialect Spoken mainly in Region/ Areas

Associated with

(@) Hadot ()  Jodhpur, Jaisalmer
(b)  Brij Bhasha (i)  Sikar, Jhunjunu ’
(© Marwadi (i) Bharatpur, Karauli {
(d) Shekhawati (iv) Jhalawad, Baran _3 -
-1 1 Gei-11 ¥ gAfea S ; f‘ ’

Telt-1 TE-11 »

et/ SqwTET HET T 37 el /ﬁﬁﬁﬁ?ﬂ‘m%‘l
@ e () S S @

®) TS ) W g

© TR / (i) YRR, Hilledt
) (v) TS, A

Choose the most appropriate answer from the options given below :

1= feu Y foeed & | waifies Suged SW g

8 @R @B B @6, 0)-)0-65),@ -6

©  (a)- (i), (b)- (i), (c) - (iv), (d) - () D) (a)ﬁl_) (b)- (i), (c) - (v), (d) - (i)

() Questionnotattempted / TG T AP}

Ramgarh Vishdhari Wildlife Sanctuary is situated in wﬁof the following place of Rajasthan ?
( .

®)  Churu ®  haraipuld © Bund

(D) Jaipur () Question not attempted

e fauumt 5= <id awmwwm%ﬁwﬁrfmﬁkﬁﬁmmﬁﬁm%?

@ ' @) e © 4

D) AR @ E) @ T

% va3 4
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15.

16.

17.

18.

In a village, two contestants (A and B) are contesting in an election, 70% of the registered voters cast their votes in
the election and A wins the election by 600 votes. If A had received 12.5% less votes, A’s votes would have been
equal to B’s votes. How many registered voters are there in the village ?

i ST HAXH

T i F < wRi (A 3R B) UF TAE A W ¥ | 79 g Gsiigpa Hagnsi 9 | 70% HA<wr

Choose the most appropriate answer from the options given below; =%
= fou g famedl # § waifs Sugad S 9He : o
@) (2)- (i), (2)-(iv), ()- (), (d)- (if) B (@) (i), (B, () - @), (d)- (i)
©  (a)- (i), (b)- (), (=09, () - (i) @) (@- () (b)- @), €@ (d)- )
(E)  Question notattempted / STRRA T

According to Motilal Menaria the Poetic text where the description of the greatness of the king, his Conquests,

wars and valour is found is called : .
(A) Rupak (B) Veli \ © Vigat

(E)  Questionnotattempted

f&an1 A, 600 TAEH | FA1E A W11 A A W 12.5% 71 T YTH 9 o 9 T B3R T S o 8 S € 1 A
fo mita o fopam dSiieha Hagr € 2
(A) 5000 (B) 6000 © 7000
(D) 4000 (E)  Question notattempted/ STITRA F
Match List-I with List-II : = S
List-1 List-I1
Name of Element Major Function in human body
(@) Sodium (i) Componentof Hemoglobin
(b) Calcium (i) Maintaining Balance
(© Iron (ii) Makes bones and teeth strong
(d) Iodine (iv) Formation of thyroxine .
Pt I gei-11 | gafer e :
-1
Al T AH
@ wifsEm
®) HiEE— ‘at
© e (), - (i) e
@ STEEH Al

) Raso
%wm%mmmwﬁﬁﬁgwﬁw,@@@mﬁwwwm%
(&) ® C o= © fm
O TE B) TG I )

‘ =
All the opposite faces of a big cube are coloured with Green, Browr}j%:nq Red colours. After that it is cut into
64 small equal cubes, How many small cubes are there whose only one face is coloured ?

T 92 (Fga) F WA I F wEH AR, R aﬂtmjﬁﬁrﬁmﬁﬁmw%lmms@ 64 DS SR T
(gt 3 forsyfor e T &1 0@ Fepat DA (@) @ et T Whorh @ i R 2

(A) 20 B 24 *ves - (Q) 26
D) 30 (B) Question not attempted / 3R ¥ 3

P va3 5 P.T.O.



19. Thecatalystand promoter used in the Haber process, respectively, are :

(A) MoandFe (B) Feand Mo (© MnO,andFe

(D) NOandMo @) Question not attempted
/%ﬂwﬁmﬁmﬁmaﬂtadﬁm €

(A) Mo 3R Fe @ Fe 31k Mo (© MnO, 3R Fe

©) NO 3R Mo (B oHuRa e

20.

‘The Valley of Flowers’ is situated in

Choose themostappmp 12
e e Ty feeredi @ @ watfires SU9H W g :
@ @0, (0)- @ ©- (@ (@-0)  © @), ©)- 0 (0)- i) (¢)- ov)
Q @-6)®)-() (@)  ©  @-Gv) G- ©-Gi), @)- 6
®) Questlonnotattempted/aﬂﬁﬁam ' T

B% vas | 6




 22.

Which of the following place of Rajasthan is NOT among scheduled desert areas of India ?
(A)  Jodhpur (B) Jaisalmer (©)  Jhunjhunu

()  Questionnotattempted

(D) Udaipur

TTeeT e B @ N W R YR S ST e & AR ?

(&) SR B) SRR '_ © FF
0) X (E) TR e

Choose the most appropriate word to complete the given sentence::

as ‘
(A) Biography (B) Blasphemy (© Bibliography
(D)  Biblical (E) Question notattempted

Who among the following is the Chairperson of the Rajasthan State Planning Board ?

(A)  Govermnor (B) Chief Minister '

(©)  Speaker of the Assembly (D)  Chief Justice of High Court,

(E)  Questionnotattempted Y
reTeeT e AT AT 1 STes Frefehan & § w1 A 20

a) T ® g
© Taum ww stee (D) ¥ A % GO A
Denatured alcohol is : 7 -f_',iz

(A)  the mixing of a dye and methanol to ethanol for the pulr_[;;se of industrial use.

(B) formed when alcohol reacts with oxygen.
(C)  formed by addition of conc. sulphuric acid to alcohol.

(D)  used for the drinking purpose.
(E)  Questionnotattempted

fad Uoahlea o1 § 2
(A) aﬁaﬁmsqﬁﬂ#@ﬂ%ﬁfﬂ@ré)a?ﬂﬁﬁaﬂmm%l
B) %wm%w@ﬁlﬁa‘mﬁ%mwaﬁm@%

© %mm%ww,qmﬁmmﬁmaﬂwjm%l

(0) e 3 3 e fove ST €1 ]I
€ sEeRawA ' 5 %
. AP
Select the improved variety of maize: e
(A) Ratan B) Jaya i (© KalyanSona
(D) Sonara () Question notattempted
T 1 I o wE T €2
@& ww ® @ © e "
O HFR (B)  STIRIA W

Bz va3 7

- The compilation of titles of books or articles that have been used by a person for writing an article is termed

P.T.O.



27.

28.

29,

30.

31.

32.

% va3

' i t Abu s col
Shimla is cooler than only Manali. Nainital is colder than Ooty but not as cold as Mussoori€. Moun colder

: ing i dest?
than Shimla but not the coldest. Which among the following is the most col
@ Nt ®  Mussooric ©  MountAbe
: i d
(D) Shimla (E)  Questionnotattempte . _ ) .
R e e @ o1 ¥ 1 IS, SR B % e Wl o S e & wdforr, fffen & 391 @ R Wy
s S ¥ | wae Frefafa § § ol s Ser R mmE ¥
(a) A ~@® gl Mo Rz
O FeEA B oE T
Consider the following data : ;:
X 10 | 20 | 30=|° 40 | 50
Frequency (f) [ 30 50 90 . 20
Frefefad e w fream #
X 10 20 30 40 50
SRERaAT(f) | 30 | 50 | 90 - 20
The mean of the above distribution is 29.6. Then what is the missing frequency ?
S TSR 0 A 29.6 %, 7 (Tt e @ &2
@) 50 =® 60 " © 65
D) 70 _f_;(E) Question not attempted / ST T¥
If a=b™ b=c"and c=ak then the V;il;lg;)f m, n, kis équal to:
A% a=b™, b=cn 31R c=ak &, T m, n, k FI9H 24
@ 0 —® 1 © 2
D) 3 (E)  Question notattempted /STwfd W97
 STsiTel ' H W W - :
(&) ey B) e © Ry
D) & (B ¥EE v
Srveft ‘! = e et ¥ e s A g 2 |
@ 3 op ™ ©
@) e JoB) S
It was Monday on Jan. 1, 2024. WhaEtW}EII be the ciay of the week on Jan. 1, 2029 ?
(A) Sunday :ﬂ-") Tuesday (© Monday
(D) Thursday “(E)  Questionnotattempted
1 e, 2024 1 G9aR 9111 S, 2029 1 FHE 1 I @1 & 73w 2
(A) TFER (B) HIHER © WrEr
@ T ® SR
8




Read the passage and answer the Qns. 33 to 37.

When the reigning world chess champion Ding Liren
coveted crown later this year, it will be like two peas in pod, in more
of himself in the 17-year-old Chennai boy.

During an interaction with TO], the Chinese Grand Master (GM) said : "Sometimes I see himas a version of me.
And we do share some similarities in our playing styles and characters."

Both Ding and Gukesh's journey to the world Championship had surprised the chess world. After the Chinese

qualified for the Candidates following a ban on Russian GM Sergey Karjakin, Ding finished second in the tournament.
tunity to fight for the crown

Later, when Magnus Carlsen chose to not defend his world title, Ding got the oppor
with Candidates champion Ian Nepomniachtchi. Ding shocked Nepo to become the new champion. Gukesh's route to
the top, too, has also been full of surprises. Despite being written off in the 2024 Candidates, Gukesh, seeded sixthamong
cight players, emerging triumphant on his debut. -

That apart, Ding and Gukesh are similar personalities-
moves do all the talking. "He (Gukesh) is notin a hurry while p
He's a very mature player ever at17. Also, he had said my game
influence," said Ding,.

Ding, who was also astounded by Gukesh's Candidates win, feels the Indian prodigy can be a 'difficult player to
handle". "I have beaten Gukesh twice but what sets him apart is he can play many kinds of openings. And he always
wants to surprise you at the openings. So he's a difficult player to handle."

After becoming the world champion last year, Ding hit a rough pa
months due to psychological and physical issues. And, when he did play, he had a series o
five-time world champion Carlsen to make a remark that Ding is "permanently broken".

"Well, I'm getting repaired," he quipped.
According to the passage, Ding Liren journeyed to become the new World Champion:

and his challenger D Gukesh sit down to battle for the
ways than one. Even Ding said that he sees shadows

words, who let their
thing under control.
had some

calm, composed and men of a few
laying, he calmly tries to have every
has some inspirations for him, so maybe [have

tch where he didn't play for almost eight
f bad results, which led the

33.
(A) When he qualified for the Candidature defeating GM Sergey. Karjakin.
(B) WhenMagnus Carlsen chose to defend his world title. — —
(© When Ding Liren got the opportunity to fight for the Crown with lan Nepomniachtchi and got defeated.
(D) When Ding Liren fought for the Crown withlanN epomniachtchi and won.
()  Question notattempted g“g
34. When Ding Liren says that he “sees shadows of himself” in the ;égeri\teen year old Chennai boy, he means that -
(A) D.Gukesh and Ding Liren are twins B) Theyresembleeach other
(O  They like each other (D)  They sharesimilarities in their playing styles and characters.
(E) Questionnot attempted
35. Complete the sentence with the most appropriate option from the ones given below :
A____ isayoung person with exceptional qualities or abilities.
(A)  Elegy (B) _ Prodigy ©  Cryptic
(D) Psychologist (E) Questionnotattempted
36. The Game being discussed hereis- C‘*kﬁ
(A)  Cricket (B) Polo , (© Chess

(D) Ski-ing " Questionnotattempted

37.  Ding Liren feels the Indian prodi
(A) heis calm and composed and a man of few words. s

(B)  helets his move do all the talking. L'/
(©)  he can play many kinds of openings and can surprise y

(D) heis notin a hurry while playing.
()  Question notattempted
|

BT va3 9

gy D.Gukesh canbea “difficul;f player to handle” because -

ou‘atthe openings.

P.T.O.



38.

39.

40.

41.

42,

t
When was the ‘Objective Resolution’ presented by Pt. Jawahar Lal Nehru accepted by the Constituent
Assembly ?

(A) 29 November, 1949 B) 9 December, 1946 (C) 26 January, 1947
(D) 22 January, 1947 (E)  Question not attempted
ﬁmmmmw'ﬁwm‘aﬁﬁhmnmma@@wmw?

(A) 29 TR, 1949, (B) . 9 fE=r, 1946 (©) ¢ 26 SR, 1947
(D) 22 SFa, 1947 (E). STRA we

The total number of 3 different colored pens ina box is 102. If the ratio between red colored and black colored pen
is 5:3 and the number of black pens is 3}3%% of green pens, then find the difference between the red colored and
black colored pens ? ™"

O <l 1 ot o7 5 el o6 et e 100 % 1 e 2 i ik o o) e 6 S 523 B S
35 e 3 e R % o 7 e w 33 1 1 et 5 et <1 S € 3 el 3 7 o
AL 2

(4) 10 B 12 © 14

O 20 (E)  Question notattempted / STqaRd 97

Who among the following has written the book “Cricket My Style” ?

(A) RaviShastri (B) - Sachin Tendulkar (©  Kapil Dev
(D)  Saurabh Ganguly E}E) " Question not attempted

=1 & 9 o e i werder’ s s forelt 32

(&) T e (B).. T Igert © Hf@s
@) |RY TR (B) " STRRA 7

Which of the following is an esterification reaction ?

Frfafaa 9 @ o ot w=he frme?

NaOH
(4)  CHyCOOC,H;=—> C,H,OH + CH,COONa
(B)  CH;COOH +NaHCO, - CH;COONa + H,0 +C0,
(O  CH,COOH +NaOH — CH,COONa + H,0
(D) CH;COOH +CHyCH,0H HY, CH,CO0C,H; +H,0
" P ' W fjj
(E)  Questionnotattempted /STFxd T
)

LI

Which of the following district has highest sex ratio of Rajasthan according to Census, 2011 ?

(A) Dungarpur (B). ", Bikaner (© Jaipur
(D) Alwar (E) 2. Question notattempted

2011 ﬁm%@ﬂm%m'ﬁmmﬁﬁnm@m%?

(4) IWH ® R © AR
(D) 3T E) sufawe

[BE v23 10



The sunlight passes through spherical water droplets of rain. An observer with his back to the sun, seen a

3.
! rainbow in front of him.
This Sun phenomenon is due to the:
(A) effectof dispersion of lightonly (B) effect of refraction of lightonly
(© effectofreflectionof lightonly (D) combined effect of dispersion, refraction and reflection of light
(E) Question notattempted
q&mmaﬁﬁﬁmmﬁﬁ@ﬁ@ﬁmw%lwﬁ%qﬁﬁ 3R e 0 T & | 9 AT [
_ TRYTY G T T K FE ;O
() TR IR F ®) m%a:maﬂ'—rmwﬁ*
© TENE WA FIAGE & (D)  FeRI S QUl, SO a1 G St 1 e ¥
44.  Which geographical region of Rajasthan does not share their boundary with Haryana state ?
(A) EasternPlain region (B) Aravali regmn
(©  South Eastern Plateau region (D)  Semi arid region
(E)  Questionnotattempted
ﬁﬁffﬁﬁﬁﬂﬁ'ﬁmﬁﬁl'ﬁffﬂl viiifer éammtmwmmwﬁm?
(A g A A ® owEchEd @
© e e & Oy fgwd 2
(B) TRa e -
45. Which is the main organization for the Development of Infrastructure in Industrial Areas in Rajasthan ?
(A) Rajasthan Finance Corporation () RICO - -
© RAJSICO (D) District Industries Centre
(E)  Question notattempted &
HI |1 G o H et 4l § SR ST o foed o forg wq@ €2
) T faw fm @) =t (Ru@
(© T (RAJSICO) @) faen aﬁﬁﬁtgm
€  uE T w
46.  Arrange the following chief secretary of Rajasthan in the order of their appointment old to recent.
(a)  ShriRajeev Swarup (b)  Smt. UshaSharma
()  ShriOm Prakash Meena (d)  Smt Kushal Singh
W%Wmﬁmmﬁwwﬁﬁ%mﬁml
(@) i USia wEd ) et s
(© i i e Hom @ s g e
Choose the most appropriate answer from the options given be b‘e'lnﬁr
=13 fe o forped &  waifreh ST SO0 i | '%:**ﬂ
@A) (). (d). (@) ® (. @ k) &7 © (@), b))
D) (b),(d).(a) (c) ()  Questionnot atl:eg\_;pted /ST W
47. ‘o’ ¥ wE g- _2
(&) FHuRE ® @ ¥ £ © o=EvE
©) Tl ® AT
va3 11 P.T.O.
o AP g M
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49,

52,

‘Pichhvai Painting’ is associated with which school of Art ?

(A)  Bundi (B) Kota (©) Kishangarh
(D) Nathdwara (E)  Question not attempted
faoard 4fen’ form wen foener | Weifvg £
A ¥ ®) © fewrTE
@) TEH €)  eRa e
Where is the ‘Institute of Leadership Development’ located in the state of Rajasthan ?
(A) Udaipur ~ (B) MountAbu (© Jaipur
(D)  Jodhpur “.0 (B Questionnot attempted
T T 3 e S eheii e el W fex g ?
(A) AR ®) wReag O g
(D) SiEER E) STNRE v
Match List-I with List-II :
List-1 List-II
Lake Located /Closeto

(@) Jaisamand lake () - -Nagaur
(b)  Sambharlake (i) - Barmer
(9 Didwana lake (m) 'Ud aipur
(d)  Pachpadralake (iv) - ]alpur

TEi-1 31 FE-11 @ g ﬁﬁ"ﬂ
He-1 Sl
et - feom /% P

@ SEwEdE. @ R

(b) W (i) RR

( Team sia \(m) AR

d) TEUE A v) AR

Choose the most appropriate answer from the options given below :

et fT T ol # & waifies sogem sw g

(A) " (@)- @), (b)- (i), (c) - (i), (d) - i) ®)  ()- (i), (b)~(iv), (c) - (i), (d) - (i)

© (a)- (iii), (b) - (iv), (EL'_(!J (a.L(ll) D)  (@)-(), (b)-(iv), (c) - (i), d)- (i)
(E)  Question not atl:empted / Wﬁﬁm :

1.... 1_J:'

: 2N

Frfefed 3 FyeaerEs Fem 1S3 & _
@) Fo< e @ | ©
D) W+ . ([® SHuURawA

In which year was Rajasthan Atomic Power Station commissioned ?

AT Y] S e o A 2 e (e T e

(A) 1963 B) 1973 © 1978
D) 1980 | (B) * Question notattempted /3R We

BE va3 12




53.

55.

57.

National Remote Sensing Centre (NRSC) is located at ?

(A) Ahmedabad (B)  Bengaluru (©  Hyderabad
(D) Sriharikota (E)  Question notattempled

T g HaT % (T R T ) Fa feom 72

() IR B) ' STIe © R

D) i@ (E) ' 37gafa v

Identify the most appropriate sentence from the following options :
(A) He lived in London for two years when I visited him.

(B) Hewas living in London for two years when I visited him.

(©  Hehad beenliving in London for two  years when I visited him.
(D) He had lived in London for two years when I visited him.

(E)  Questionnot attempted
Who has been appointed as the 26t Chief of the Indian Navy in April-2024 ?

(A) R.HariKumar (B ManojPandey ©
(D)  V.R.Chaudhari () Question not attempted
37i, 2024 | MR A1 S BT 26901 S (1eqer) foFQ g T ?
(A) SR TR FAR B TN © FwFR B
@ dem. = B) . IERA T |
g1 %1 gei-11 & frem 3
Eit-1 'ﬂ?ﬁ“l_lz“
(a)  SITET Y ST, (i) qRE L3
© TWAHT _(_m) ST
(d) df&rdi =1 FHerd (v) &
3 fu e foreedl § A Wi SUgE SW 1 97T HifT|
A (@), (b)), ()-v), (D0 ®)  (a)sii), (b)-(i), ()-(). (d)-(iv)
©  (@-DADHE), (c)-(d), (d)-v) @) (@A), (b)), (©)-(iv), (d)-(i)
E) ARG FH
Select the mostappropriate statement for the a_lil_;_»_ginhnentof a Chairperson of the State Human Rights Commission.
He/She has beena: {22

=

(A) DistrictJudge &
(B)  Chief Justice oraJudge of High C':JurtaL§

R

(©  Social worker 4y ‘
(D)  Speaker of the Legislative Assembly ===

(E) Question notattempted ¢
g HHAHR amﬁn%ama%mmsqgaamaﬁwﬁlag @ @D :

a) e =mndg e
(B) Eﬁwa;g@m%ﬁmawwmtﬂm
© HH=Hah

(D) faum gw & A9

B A TH

BE v23 13

Dinesh Kumar Tripathi

P.T.O.



tres. If two angles of

o | r me
58. The horizontal distance between two pillars of length 18 metres and 8 metres is 'm then the value of ‘v

elevation of their respective top from the bottom of the other are complimentary to each other,
(in metres) is: ; -
lawﬁsmm%a@ﬁﬁmm{ﬁ'm’ﬁa%lwﬁmﬁ@ﬁmﬁmﬁm T
& e g T P T @ me (AR H) AR T R

@ 12 ® 14 © 16

©O) 18 (E)  Question notattempted / ST I

@ In the context of Indian Constitution which of =tlut_efol[m'm.ng is not a fundamental duty ?
(A)  Toprotectand improve the natural environment
(B)  Tosafeguard public property LA

(© Torespect the National Anthem
(D) To respect the elders
(E)  Questionnotattempted

ﬂmﬁﬁm%mﬁqﬁ@aﬁﬁaﬁﬂmﬁmﬁm@%?
(A)  STH{TH TR H 287 3R GUR FH-

(B) WS |l ol e F .

© TR THA FL

O) = HTHA FA _

60. If2cos%)+3sinf =3, where 0° < < 90°, then wl_igtjs the value of 5sin20 + c0s20 + cosec226 ?
A 2c05% +3s5in0 =3 W& 0° < 0 < 90° ¥ 7 55in220 + cos20 -+ cosec220 T W 41 B 2

e 35_; : 21
®) 15 (B) {6’2_“ © S
D) % ® ail_l_éﬁonnotattempted/aﬂﬂﬁﬂm

61. A shopkeeper marked a product, 60% above the cost price and sold the product for Rs 32
successive discounts of 10% each. Find the cost price of the product.

(A) Rs. 20,000 (B) Rs.23000 . © Rs. 25,000
(D) Rs. 30,000 (E)  Question notattempted

TF TFAIR A T IR T AN e B 60% S 7o 3ifha fve & ol seme 10% < hf w2 2 39 3
& %. 32,400 ffﬁmﬁwnmwmwﬁgmﬁl

400 after giving two

A) % 20,000 B T-23,000 ‘_ © = 25000
O % 30000 () SHuraTe
e~

62. Thesimple interest on a certain sum of money ?@‘ﬁg years is Rs. 300 and the compound interest on the s

at same rate for 2 years is Rs. 315. The rate of 1i1dte_{est perannum is:
MQammzaﬁa?mmwﬁﬁsoo%aﬁtaﬁmww Y F fo Tty =
TS TN TR A AN R E (&

&) 10% B 15% © 20%

D) 25% (E)  Questionnotattempted / 3T e

BT v23 i

ame sum




6.

(A) TRER TR e ®) T 375 TR M
(© e M O) e et
E) STIIRA T —
64.  Select the incorrectly matched pair of plant and its economically m;;ortant part:
(A)  Curcumalonga-Stem (B)  Allium sativum -Stem
(©  Rauwolfia serpentina-Root (D) Terminalia arfftkif{;- Flower
() Questionnotattempted
frrefafad 3 9 1ad FHoe e drei 7o 368 g Wﬁ%@ﬁqﬂﬁ@g@ T B
(%) FE AT~ - ®)  fera wEEaH - T
() ST e
65. Himalayan Yew tree (Taxus wallichiana) is found in which States of India 2
(A)  Sikkim and Himachal Pradesh i
(B) Himachal Pradesh and Kashmir =
(©  Sikkim and Uttarakhand Wil
(D) Himachal Pradesh and Arunachal Pradesh ':_ e
(E) Questionnotattempted i
femmerdt 3 34 & ( 2T Fliei =) wﬁ?ﬁr—rwfzww%?___
(a) fafen oir feara wRw (o)
B) feamea w39 AR FER ; -==‘j_‘j-
© fofsem iR swEs § oy
(D) Fenraa w_w 3R STETEE WY
(F)  SHeia ¥
©6) Which of the following is a physical change ? '
(A) Rusting of iron (B) Respiration (©  Melting of wax .
(D) Photosynthesis ()  Question notattempted
Freferfia & @ w1 T Wi RE &2 B>
(A) TR W S A g B) TEETX {;,aj (©Q_ ™ it frerer
D)  THRTHIEAT E) STgaE T
67.  Which State is NOT a part of the‘Delhi-Mumbai Industrial Corrldor ot Project’ ?
(A)  Gujarat (B) Maharashtra _é_s % (© Punjab
(D) Rajasthan (E) Question notatl:empted
fadasnaTa’ /_Hﬂiaﬂa’lﬁﬁmmqﬁ'«tﬁaﬂl LS _ﬁ%’
A) TR (B) TR © W=
(D) TSEH E) IRRa TR ’
B va3 15 7 ~ PTO.

The United State of Greater Rajasthan was formally inaugurated on 30" March, 1949 by
(A) Sardar Vallabhabhai Patel (B) Khan Abdul Gaffar Khan

(© Mahatma Gandhi (D) Hiralal Shastri

(E) Questionnotattempted

_30 T 1949, 1 HIH T TSI ( United State of Greater Rajasthan) i Siaeifeh SGHT forieh g feran e 2

P ald



68, Frefafaa § seare W E-
O ®) S ©
CQ Lic] @)  ST6Ra wE
69.  Given two statements to be true, even if they seem to be at variance from commonly known facts. Read the
qogclusions and decide which of the given conclusions logically true from the given statements.

‘Stlalemcnt :Some hands are eyes. No eye is leg. All legs are hairs.
Cglmcl usions :

i No hand is a hair.
G Some eyes are
C nthe light of th

ptions given below.

| C

4 ' hgf the control unit?




BE v23 17

71.

73.

74,

75.

Which of the following is not a type of spreadsheet program ?

(A) Zoho Sheet (B)  Microsoft Excel
(© Googlesheets (D)  Rosesymphony
Question not attempted
frefafad 3 @ S @ Srevie Y & ywr 169 $0
@) S e (B) ISR TR
© T e O) A R
€ ARG A _
Which of the following groups consist of only Input device;; :?—_ :
(A) Mouse, Keyboard, Monitor (B) Mouse, Keyboard, Printer
(© Mouse, Keyboard, Plotter (D) Mouse, Ki?yboard, Scanner

() Questonnotattempted :
Freifafan & | HHE-H1 §9¢ e $792 feareq & Ty w3 ?

(A) TISH, HISIE, THRX ®) =Y, HEe, i@

© TISH, HiElS, wilex (D) WI=H, HIETS, T ile—

(E) ﬂﬂﬂﬁﬂ LG

Choose the most appropriate option to fill in the blank :

Would you like to hear story about Englishman, Irishman and
Scotsman?

(A) the,an,an,an (B) a,an,an,a j——___ © x, an, the, the
(D)  a,the, the, the (E)  Questionnotattempted

The area of a square is 9x2 +24x +16. Find the measure of the side of the square.

T o 1 GTHA 9x2 +24x+16 | I & Feieh I HIY FaSLl

(A) 3x+1 (B 33 = © 3x+4
(D) 3x+5 , (B)  Question notattempted / STFARA T

=

I1| fi

|

B,P,Q,R,S, T, Vand W are sitting around a circle facing ﬂiagnﬁe, not necessarily in the same order. Sis 2" to
the left of P and S is 4" to the right of Q. T is second to the right of Rand R is 374 to the right of P. B is 34 to the right
of V and V is not an immediate neighbour of P. Then who is to the immediate left of B ?

B,P,Q,R,S, T,V Td W $7 %! 7@ HT T Tels H 4 € | Sereash T 36l 7 § 21 P & o TWh T WM W
S dar % 3iR Q¥ <i¥ o0F W Y TF WSS 1 R 3 T T T TIA T T 94318 3R P % e T qIR Fa
R a1 ¥ V 3 2 % 9 TH W B S 3R P % 9 # Ve § | 4 B Sieh Sk 3 ST § i <4 § 2

(A) R B S © T
D) P (E)- Question not attempted / ST %7
Frerfafan § @ T e T T ud _
A  sfage— ® fw&fe— = (C)‘ ERER
D) ST ® smerawe O

The name of the present (August, 2024) chairman of ISRO @iian Space Research Organisation) is :

(A) Dr.K.Sivan @B Dr.K Radhzfﬁ‘?_s_iman (© Dr.K Kasturirangan

() Question notattempted

(D) Dr.S.Somnath attes
T (YR stafe STEYF GTST) % a4 (3T, 2024) A T

A) = & faaa B) . & TUFOH © 3% wgitE
(D) <l & §Hag () A v

P.T.O.



78. ﬁqﬁmﬁm%mﬁmﬂﬂwﬁ-

(A) S ®B) - © 3f-am
79. R’ ¥ g e - | A

@ = | ® @ 8? ©

@) = R 9.

80.

Before the date

U (Lug}m

~
o Tl =T

(A) -
84.  Where is the natural
(A)  Jaisalmer Kaner i~
: ; _—

(D) Bhilwara ® thoggmmm © Udaipur
_ mﬁmﬂammﬁa mmmwmm%? I\J
4 © @R
i e ® 3‘_ 3“'*"'“"
e 18




85. Choose the most appropriate reported form of the sentence given:
“Where will you be tomorrow”, I said “in case I have to meet you?”
(A) TIasked where you will be next day in case I will meet him.
(B) Iasked where he would be the next day in case I had to meet him.
(© Isaid to him where he will be next day in case I have to meet him,
(D) Ienquired abouthis whereabouts the next day in case I would have to meet up.
(E) Questionnotattempted

86. How many squares are there in the following picture ?

e feg e o & forem ot ¥ 2
A 9 ® 14 © 15
D) 17 (E)  Question nutaﬁempted VE RG]
87.  Select the most appropriate statement about blood platelets (Thrombocytes) :
(@)  They haveno nuclei.
(b)  They are very small fragments of cells.
(©  They contain red coloured pigment called hemoglobin.
(d)  They participate in clotting of blood.
(¢)  They produce antibodies to fight antigens. e
Choose the most appropriate answer from the options gwen"below
(A)  (a),(b)and (c)only (B) (a), (b)and (d)only
(© (), (c)and (d)only @)  (b), (@ and ()only
(E)  Question notattempted "
T fefaTy] (ST=eTEes) & aR H Waifein Suga e H A
(a) ST IS sk TEl O §L— g V]
b) 3 FEH % g D THS € 1 i;j
© Eﬁwmaﬂaﬁ-ﬁs‘m% ﬁiﬁéﬁf@hﬁﬂaﬁﬂ%f—
(d) I F aFE TR A R A
) 3 wfirer (Bee) @ T & fa ghwed T €
s fo T ferehedt & | Watfeen STEE ST 1 :
(&) ¥ (a), (b) 3 () | ®) e (a), (b) ()
(© Fa@ (b), (c) AR (d). O FE) () (@3 (@)
(B) ST ¥ =
88. In which month is the festival of Kajali Teej celebrated i mrﬁ{l-}dl
(A)  Chaitra (B) Shravanma =i (© Bhadrapad
(D) Phalgun (E) Question nql.a_ttempted
421 % et el 1 e g AR A TR ST R 2 V)
) = ® e (L) © YRR
D) WA B) IR T

\ iﬁ V23 19 | P.T.O.
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89.

90.

91.

92.

93.

95.

Which of the following is the electronic brain of the Computer?
(A)  ALU (Arithmetic Logic Unit) (B) Memm.*y

(©  CPU (Central Processing Unit) (D)  Control Unit
(E)  Questionnotattempted -

ﬁqﬁmﬁﬁaﬁqmwmsﬁg@iﬁqp

(A)  TTS g (e difen gfe) ®) AE
Q W EE TRy D) R
(E) STIuRda v

Choose the most appropriate word to con{p]ié’té the given sentence:
When are you bringing the next issue of your journal ?

(4)  off B) of © wup

(D) out (E)  Question notattempted .

The metal which is not found in the free state s -

(A) Gold (B) Silver (© Platinum

(D) Iron (E)  Question notattempted

ST I v & = frer aren v - .

(&) € (®) - = © ifem

@) | €) - STRa ¥

In a typical nucleus some regions of chroz;_i;t:i_ﬁ are loosely packed and stain light, this region is known as :
(A)  Heterochromatin (B) Eu_ch{gyuﬁn (©  Nucleosome
(D) Histone octamer (E) Question not attempted

T e e H A & 50 & (il w99 T § ol wen s 9 ¥ 9w A ™Y

WH S g

(a) ¥Rl ®) g © fwErm

D) feer sl B S v _

In a certain language “SNIP" is coded as ‘“@59#’ and ‘KITE' is coded as ‘$9%!". How will ‘PINK’ be coded in the
?

;:Fmif?::r:;'sw I ‘@594 T 3T KITEH ‘$9%!" H His fohdl 1l ¥ 1 36 Fre & PINK’ =3 2 Fre fea

(A) $85! (B)-.#958 © 92#%

D) S19# (Ejf“it!_Quesﬁon notattempted / STTRRA ¥
_ -
Choose the most appropriate Hindi word for the given word :
DEFERRED — :
(A) 9wy s ®) f’g.___"?ﬂﬁﬂ Easll © fas= Al
D) AT HE (E)  Question notattempted

Which of the following key do you press to check spelling in MS Word ?
T TR 7 A A s ¥ e s refarad § @ B S 5t & @ 8

(A) F5 B) F2 © P
O) F7 ()  Question not attempted / 3TTRRA W&

BT vas 20



98.

100.

101.

102,

103,

Nanda Devi Biosphere reserve is situated in which state 7

(N West Bengal (1) Uttarakhand ()  Gikkim
Assam () Question not atterm pted

sty 2ot oAt frsd faa amm i frog %7 -

(ny e A %03 ERUU () ffwrm

o & ()

k" 751 (T i - o

W 7 ey

v @

Which institution s

In which state did the Supreme Court rece

(A)  Punjab (B) Haryana . ' (O Rajasthan

(D)  Gujarat (E)  Question notattempted

T e 4 A % oA e, 78 T E At e § i w2 w9 awd @ R fa?
(hy A @) e © TR

D) T () &A@

I

B vas 21 | P.T.O.



104. Which of the following is correct ?
(A)  Red light travels fastest (among VIBGYOR) in vacuum.
(B)  Violet light travels fastest (among VIBGYOR) in vacuum.
(©  Allthecolours in VIBGYOR travel with the same speed in vacuum,
(D) Nonein VIBGYOR travels in vacuum.
(E) Question not attempted

et & w3 @ i &2

() Fafa # VIBGYOR H & T 01 ol Wehl Terdt i1 T1fel et &1
@) frafa & VIBGYOR # & Fwrt 31 ot Wermt wa 351 71fe) el & |-
© ﬁafaﬁvmcmnﬁﬁmﬁfn%mwmﬁnﬁlm%l
D) ﬁahﬂwnayonﬁﬁaﬁﬁtﬁfnwmnﬁaﬁw%u

(B) AFWRA WA %

!

105. Which movie won the best feature film award at the 69" National Film Awards in 2023 ?
(A)  Rocketry : The Nambi Effect (B)  Gangubai Kathiawadi
© RRR . (D) Sarpatta Parambarai

(E) Question notattempted '
mzonmeﬁﬁ%mﬁa@%qwﬁﬁﬁmﬁawmﬁﬁw?

@) TR} R T ®) T e
© o em.em (D)  FYg THART |

106.  Which of the following isan opaque object ? .
(A) Glass B) Water 1 (© Kerosene
D) Wood (E)  Questionnotattempted
ﬁﬁﬁ@ﬂ??ﬁ_@@ﬁ@%? L%
(A) TR (F) ®) L o e
©) R ® SR

107. QandRare siblings, P has

two children and he is son of E i -in- - ;
granddaughter of E, Then how is Q related to En'?' N T only one son. Ris not
(A)  Daughter (B) _ Grand Daughter © Son
(D) Niece

N (B)  Questionnot attempfed
Q 3R R HEIT MIE 9 afeq &1 P % 2 o # 3 9w B 3y
TE R Q HER w1 Wiy £ “‘E%’E’HEW%’HWWWE?%.EﬁWR

L J
@A) T _— ®) :

' ©

(D)  wirsit ® SR T ¥

108. Frefafen ¥ swyps fafad ar - '
(a) %aaﬁ-aaangI
© i v Fafah oo
E)  IrgafE v

% v23 éq(/‘};‘g?( 22

(B) Waﬁﬂmﬁzﬂ?ﬂmm
D) HHE WS S fe W



109. Choose the most appropriate English translation of the given sentence.

110.

111.

112.

I TR M T faan
(A)  Hedid notdeceive you. (B)  Hehasnotdeceiveyou.
(©  You have not been deceived. (D)  Youare being deceived by him.

(E)  Question notattempled

Rusting of iron takes place :
(A)  Inpresence of air only (B) Inpresence of water only
(©  Inpresence of both air and water (D) Inabsence of air and water
(E)  Questionnotattempted
(A) %ﬁaﬁmaﬁmﬁwﬁﬁﬁ_ " ®) aﬁlﬂﬁﬂﬁmﬁf“-
© wamvﬁﬁﬁﬁfﬁmﬁﬂﬁ‘ﬁ (D) o1 A1 I i SAgarefd He
() gaRa ¥
Match List-I with List-11:
List-I List-II
Paris Olympics 2024 Position - Country
in Medals * tally
@ 1%t (i) India
® 620 (i) USA
(¢ 34 ( 1 (i) Pakistan
@ 71st €Y (iv) Japan
Feit-1 ! geit-11 4/ goferd m’lﬁm 5
eI [y, T
frer siffeiaes | &
204 AgeH wt el o
@ W @)y
(b) 62§ (i) JWT
© dEa (iii)  SfeR%aTT
@ 71 (iv) ST

Choose the most appropriate answer from the options given below :

3 few Tu fomedl © A Haffie 39 W 9T |
@ (@-(ii), )@ ©-0 -G B @) ©)- ) Q=) (- (i)
O (@-0), b)) @-(v),@-6) O @) 0)- G (0¥ -6
(E) Questionnot attempted/ @jﬂ?lflﬂ o

jen_turns North-West and walks 4 km. Then he turns South and walks
Aman walks 3 km to East, then . South and w
6 km. Then again he turns West a_n\?fc‘!ryalks 3 km. Finally he turns North and walks 7 km. In which direction, is he

tarting point? o,
:f)m thl\?osrﬂ:—wgs}t) "’E":): (B) North (© South
(D) West “."(B) Questionnotattempted

o qd 3R 3 forelt e & A o IE-afeem i of e 4 fobell o @1 fR 9w < A sl e
¢ frdt = &1 fre @€ 19 \ufvEm fm 1 ot 3 felt s 1 efd A 9% ST &1 A quaw
7 feprlt wrern & | wrareq foR 98 A WP foig | ot frm R A @7

@A) FW-uE=m B) IW . © fEm
o) uf=m (B) ATRawH _
P% va3 - 23 P.T.0.



113.

114.

Which disease is caused due to trisomy of 215t chromosome in humans ?
(A) Klinefelter'sSyndrome (B) Phenylketonuria
(© DownSyndrome (D) PatauSyndrome

(E) Question notattempted

FA 1 T 219 TOHR S FHAOEEAT F FOT B ?

(A) FARTERR A (B) BRIl
© == fadm D) %= fagm
€) STURa 9T al

Select the related option which would replace the queshon mark (?).
39 Watua fased & =97 & st 94 fo ((2) %:w-rtrt 3 T § 2
ANIMAL: OBNJMB: : GROUND : ?

(A) . SHVPOP ) SHPMKL (O SHVPEO
(D) HSPVEP ()  Question notattempted/STTIRA T
Match List-I with List-IL.
List-I (Fair) List-II (Place)
(@) KarniMata () Kolayat
(b) ShriMahavir]Ji (i) Diggi o
(© KapilMuni (ii) Deshnok ==
(d Kalyaniji (iv) Karauli =]
-1 &1 Get-11 2 GAfed Hifs | LiS
TEt-1(Be) E-1 () =
(@) R T @) S pt=
© v i) 3FF | ¥
(4 St (iv) el

Choose the most appropriate answer from the options given below :

e R T et & | wartfires soge s 9f

(&) @), (b)), () - (iii), (d) - (iv) ® (@A) ©) - -6 (d) - (i)
ACD ()~ (i), (b) - (i), () (i), (d) - (i) D) (2—2); (b) - (i), (<) - (i), (d) - (i)

(E)  Question not attempted / 3T 391

-—-:‘_ 2

116.  In which games category of Paris Paralympics 2024 NEma Agarwal won bronze medal ?
(A)  R2Women 10m Air Pistol SH1 (B) ~ R.'g Women 10m Air Pistol SH1
(© R8Women 10m Air Rifle Prone SH1 ®) - = R2 Women 10m Air Rifle SH1

(E)  Question not attempted

9 Jushafigay 2004 %ﬁ%&r@ﬁaﬁﬁﬁmmﬁm | 9 ST © 2
Ranﬁmlommﬁeasm

(A)  R2 HfgeT 10m wR fowed SH1

©  R8 Afeell 10m TR WEHEa WA SH1 (D) R2 Hf= 10m TR 3% SH1

() afaym

% va3 24



117.

118.

119.

120.

121

122,

123.

AT e H e - 0% e free 3
() s w gl . B) IR HY v © Fu =R Y
D) Ik @y dfy E) orufia v

Amaln.starts a business with Rs. ‘M’ and 2 months later Chirag joins him with Rs. “M/2". 1 month later Praveen
alsolfilns them with Rs. “3M’. The difference between the profit received by Aman and Chirag at the end of one
yearis Rs. 9100. What is the difference between the profit received by Praveen and Chirag ?

(A)  Rs. 28,000 (B) Rs. 28,600 (© Rs. 38,600

D)  Rs. 40,000 (E) Question notattempted

AT M’ Y T FRITR AR foran 31 2 T 26 s foaar v 41 . M /2 R 9Tt 8 T | T W A,
T S E. 3M Y I ey o B e | U e o i 9 37 39 o We e €. 9100/ 1 S Al
EELRCRENE-G i R L E R T

(&) % 28,000 B = 28,600 © ¥ 38600
(D) . 40,000 (E) STufRa W

Which of the following is an optical storage device ?

(A) Hard disk (B) Tape (©) Punch Card
(D)  Blu-ray- Disk (E)  Questionnotattempted

Fefafed § & F1 9 sicira ®i feagg 22

@A wWfem T G © dEEE

O) = -fe=m ()  Ta e

Which area of Rajasthan is a part of ‘Arid North Wg_s_:gern Plain’ ?

(A) Ganganagar (B) ~ Hanumangarh

(© North Western Bikaner (D)~ ~Barmer

(E)  Question not attempted i

TSTeq™ & 57 &1 § A A W1 Y S G He o T e R ?

A) TR - e v ® RS <

© SR ufeEH S - " (D) ¥R

() @ TH

‘Fa-Fia’ W g o e el Frefefad § | G-

(A)  shel-fershel (B) HI-FH © SR-TEA
O) o gen-Tl g3 (B) IO ¥

Choose the most appropriate option to fill in the @

After months of recession the economy ___;“‘:‘;L’picking up.

(A) was ®B) we{i}—"ig © is

D) are (B)  Questionnotattempted

Which of the following organizationis on the higlhllggglevel in order of Panchayati Raj system in Rajasthan ?
(A) Kendriya Panchayat (B)  Zila Parishad (© Panchayvat Samiti
(D) Gram Panchayat (E) Question notattempted

1 Tl H A TS TSR Y T JOned % Y Wl S W W R ?

(A) AR R D ({) forem ufteg © varEa wfufa
(D) U™ 99EFd @)  STaRd Wl

P v23 25 P.T.0.



124.

125.

126.

127.

128.

129,

In AIDS is primarily affected.

(A) Circulatory System (B) ImmuneSystem (© NervousSystem
(D) Digestive System ()  Question notattempted

AIDSH, __ &3 ¥ X wwifaa St )

(A) RSO ®) whwands © dmdE
(D) WEAGH (E) SIIuid W

Punnamada kayal lake is situated in which state of India ?

(A) Rajasthan (B) Gujarat © Kerala

(D) WestBengal (E) Question notattempted

TR A A HRd & 69 9 # fed 82

(A) TSH (B) ToUd ©

(D) iv=W s (E) SHuawH

Which of the following area of Rajasthan is/ are benefited with water from Indira Gandhi Canal ?
(@ Churu (b) Jaisalmer ()  Jodhpur ;= T (d) Ajmer
Choose the most appropriate answer from the options given below :_z

(A) (), (c)and (d) only ' (B)  (b)and (c)only -~

© (a)and(c)only (D) (a),(b)and (c) onlzh

(E) Questionnotattempted y

e & e 3 4 T %ﬁﬁsmn‘i’%ﬁmﬁwmwﬁméy :

@ T (b) ST © S| L. () TR
e R T fawedi # | waifue Suge W A -

&) F4 (a), () 3R (d) : (B) <. et (b) 3R (c)

© F (a) 3R (X (D) %7 (a), (b) 3 (c)

E) IR

Choose the most appropriate option to fill in the blank : A

He abdicated the throne his eldest son. N

(A) against (B) inlieuof i i © bywayof
(D)  infavourof ®) Questionnotathemptedfg

‘Fr+7@’ = i 2l | | ii%

() frE ® @ & o

O fr= ® SHRaYA (L)

frefafaa 3 g fafem w= -

(A) vEfed (B) ARETH © tferawh
D) &FEE (E) - 3TINa v

P vas 26



130.  Which of the following fundamental duty is added by the 86t Constitution Amendment Act in Article 51A of the
Indian Constitution for a parent or a guardian ?

(A)  Todefend the country and render national service when called upon to do so.
(B)  Touphold and protect the sovereignty, unity and integrity of India.
(©  To provide opportunities for education to his ward or child between the age of six and fourteen years.

(D)  Safeguard public property and to abjure violence.
(E)  Question not attempted

863 TAUFTeH WYl sifufrm g st T ¥ SR 510 # FrafaRan # & i @ wife wwe A i
e rfEe & o e w2 —-—
() 0 T N, SR T T A Sl T AL
(B) WA i WY A, Tehell 31 STESAT hY SHIT TE@HT 3 3! T8 FTAL
© mmwmi@ﬁ.ﬁ:wm#ﬁﬁm%mmml
() el w9 g won SR R e
() SIuRd ¥
131. Which fundamental right cannot be suspended even during an emefgency 2
(A)  Right to Life and Personal Liberty (B)  Rightto assembling peacefully

(© Rightto freedom toresideanywhere (D)  Right to freedom of Religion
(B) Questionnotattempted . . - :

m%%ﬁaﬁamﬁﬁmmﬁwﬁaﬁmﬁ%mm%? iy
(A) STt iR SR WA AR (B) NGO THTAd S I STUBR

© & ot @ w arfEeR T (D) = T SR

132. Who was the founder of the Chauhan dynasty of Ranthambhor ? ;
(A) Govind Raj _ (B)  Vigrah Raj (© Durlabh Raj-
(D) VijayRaj ()  Question not attempted
mﬁ%ﬁ‘t%aﬁgﬁﬁmﬂwm‘hm? _ o bel
(a) T TS ® farT™ - | © T
o) fosETS B 5 (B)  TARE T

133. Choose the most appropriate pa_gswe form of the sentence given.
No one can do anything about ff\i‘ic_aase unless someone gives us more information.
(A) Unless someone gives us more information we cannot do anything.
(B) Nothing can bedone about the case, unless we are given more information.
(© Someone has to give more information for us to do something.
(D) To do anything more information s required. L
(E) Questionnotattempted ° % ]

134. Choose the word most similar in meaning to -

ZEAL
(A) apathy (B) fervour - (© reluctant
(D) liberal (E) Questionnotattempted
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135.

136.

137.

138.

139,

140.

Carbonis:

(A) Monovalent (B) Divalent ©
(D) Tetravalent (E)  Question notattempted
FEA R :
(A) T EINH ®) fg gae ©
O) g §AH E) IgarE T
Which of the following formula depicts monosomy ?
frafafas i § | S THgAgTT quta g 2
(A) 2n+1 B) 2n+3 ©
D) 2n-3 (E)  Question notattempted/ 3TTTRG T
‘The Amphibians of the Plant Kingdom'’ are : (e
(A) Thallophytes (B) Bryophytes L3 ©
(D) Gymnosperms (E) Questionnotattempted
"I ST SR QR (SYEER) R :
@) AERE (B) RIS ©
O) ey () SIgafa we
VI 9 S TAEr F A0 S H =g F+H
@) FR- (B) O - HITIW, ©
(O) - T, € FEET
Who propounded the theory of the origin of Rajputs from the N%lga}a Brahmanas ?
(A) JamesTod (B) Dr.DR. Bhandarkar, ©
(D) GauriShankar () Questionnot attei;}gt}d
TR SR & Tl <t St = fagia e i a2,
@) e (B) . IR R - ©
(O) T ¥ . ® s -
Match List-I with List-I1 ; —
List-I List-1I
Country Currency
(a) Bangladesh (i) Kyat
(b)  Nepal (i)  Ngultrum
(€ Bhutan (iii) Taka
(d Myanmar (iv) Rupaya
i1 &l Feit-11 § GAfed Hirag :
-1 geit-11
= iy
(a) TR () F@ : N
®) @ TR bl
© Em L () T F—
(4 TmER (v) w93 3
(Ehoose the most appropriate answer from the options given below :
1 R TG feredt & & watfiren JugEm o 9f - '

Trivalent

IEESEISED

2n-1

Pteridophytes

AT

% - U™

Vincent Smith

fadz fmy

@B @-(ii), (0)- (v}, (©)- () (@)-@) B (-G, (b)"'-"'(") - (i), (d) - (i
O @-0).0)-00-6@)@-G)  © (a)-v), (b)(it), 883 Ediﬂi

(B)  Question not attempted / 377G ¥¥7
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141. Match List-I with List-II ;

List-I List-II
Indian Player Sport Associated With
(@) ManuBhaker ()  Cricket
(®)  Mithali Raj (i)  Shooting
() PVSindhu (iii) Boxing
(d) MaryKom (iv) Badminton
Ei-1 = FER-11 Q gafe wif
-1 -1 (YJ
et et Ty
@ 0 X
b Hach = (i) FomeTSh
© W=t fHy (iif) RS
d FHm (v) Sefg=s

Choose the most appropriate answer from the options given below :

Fr g T et R warifirs SgER SO SR | |
(&) (@)- (1), ()- ), () - (iv), (d) - (i) B)  (a)- (i), (b) - () (c) - (), (d) - (iv)
O  @-@)®)-0@).©-).@-0) O (@-0), b)) ©- ) @- (i
(E)  Question notattempted/ 3TFARd W9

142.  Which of the following is the most essential for germmaﬁéap of seeds ?
(A) Water (B) Light I (© Fertilizer
(D) High temperature () Questionnot attempted
T W it ST & T el e siovem @ ¥ ? _=
@ . ® o =m
(D) SHAWHH (E) Iurd wr; *

143. Dhol dance is associated with which area of Rajasthan ? e
(A) Sikar - (B) Jaipur (C) Jalore
(D) Pratapgarh ()  Question notattempted
e I 1 Gy ToTe & o A | ®?
(a) R . ®) SR © SR
(D) ¥ B) STINRd 77

144. SardarSarovar Damis builtover which river ? N
(A) Tapi (8) Narmada ~ * © Godavari
() Krishna () Questionnotattempted
TRER FLR Y T TR I = T E 2 Y
A) <t ® T < © T
®) Fom E) ﬂaﬂﬁmm

145. The largest river in the peninsular regionis: 9’3
(A) Mahanadi (B) Godavari == (© Krishna
(D) Narmada (E)  Question notattempted
ST R A 9 e a9 T
@) TR B e : © T
O T €) FHRa WA
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146.

147,

148,

149,

150.

Name the first state in India, in which the modern three tier system of Panchayat Raj Administration was adopte d.

(A)  Maharashtra @) Kerala (© Rajasthan
(D)  Uttar Pradesh ()  Questionnotattempted
W%wmmmmﬁq—mﬂ’twwﬁ wgﬁmWﬂaw@Wmmﬁ?
(4) wERE (B) kA i
D) SWWRY . STARa ¥

Which company got the status of Miniratna category—] in March-2024 ?

(A)  Grid Controller of India Limited . ®) Coal India Limited

(©  Power Finance Corporation (D) Gail India Limited

(E)  Question notattempted

A, 2024 F fofg e it AR PSS SRR Y

(A) e F2er atw st fafiee @) i s faEes

(© TR WA AR O 7 st fafiees

® I

Which salt does not contain water of crystallisation ?

(A)  Blue Vitriol (B) __Baking Soda (© Washing Soda
D) Gypsum (E) = Queshon notattempted
ﬁnl%ﬁaaﬁﬂﬁawﬁ%e&ﬁwwmwﬁ@m%’

(&) ren fafgaa (B)@@ﬁmrm-gr © €@ e
©) fa=m ® - aﬂ?rﬁam

Which Article of the Indian Constitution p_ro_wdes fora Governor in each State ?

(A) Article153 (B)i~ Article 155 ©  Article157
(D) Article159 (E) i Buestion not attempted

YRAIT WauM & {59 T8 F 51 Yis TG | TS99 &t Fafem o1 wraye § 2

(A) TSR 153 (B) TT1 155 © STHR 157
@) TS 159 (€) SaRd v

The Chairperson and member of the Rajasthan Public Service Commission are appointed by the :
(A)  Chief Minister v

(B) President ‘
(©  Governor
(D) Chairman of Union Public Service Conunms:on
(E) Questionnotattempted

STETT Sl Tl A ¥ e T G S i e A QR g ) s 30

&) TErE —
B T N
© T

(D) |9 dre ar A F Teas

(B) [ g™
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